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This Question Paper consists of 6 questions and 8 printed pages.  
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General Instructions : 

1. Candidate must write his/her Roll Number on the first page of the Question 

Paper. 

2. Please check the Question Paper to verify that the total pages and total 

number of questions contained in the question paper are the same as those 

printed on the top of the first page. Also check to see that the questions are in 

sequential order. 

3. For the objective type of questions, you have to choose any one of the four 

alternatives given in the question, i.e., (A), (B), (C) or (D) and indicate your 

correct answer in the answer-book given to you. 

4. Making any identification mark in the answer-book or writing Roll Number 

anywhere other than the specified places will lead to disqualification of the 

candidate.  

5. Answers for all questions, including matching, true or false, fill in the blanks, 

etc., are to be given in the answer-book only.  

6. Write your Question Paper Code No. 64/VOC/O, Set  A  on the answer-book.  

64/VOC/O 

A 
Set - 
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gm_mÝ` AZwXoe : 

1. narjmWr© àíZ-nÌ Ho$ nhbo n¥îR> na AnZm AZwH«$_m§H$ Adí` {bI| & 

2. H¥$n`m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥îR>m| VWm àíZm| H$s CVZr hr g§»`m  
h¡ {OVZr àW_ n¥îR> Ho$ g~go D$na N>nr h¡ & Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${_H$ ê$n _|  
h¢ & 

3. dñVw{ZîR> àíZm| Ho$ {bE AmnH$mo àíZ Ho$ (A), (B), (C) AWdm (D) Mmam| {dH$ënm| _| go H$moB© EH$ 
ghr CÎma MwZZm h¡ VWm Cgo AmnH$mo CÎma-nwpñVH$m _| {bIZm h¡ & 

4. CÎma-nwpñVH$m _| nhMmZ-{M• ~ZmZo AWdm {Z{X©îQ> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$_m§H$ {bIZo 
na narjmWu H$mo A`mo½` R>ham`m OmEJm & 

5. {_bmZ H$aZm, ghr AWdm µJbV, [aº$ ñWmZ ^aZm Am{X g{hV g^r àíZm| Ho$ CÎma, CÎma-nwpñVH$m 
_| hr {bI| & 

6. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§. 64/VOC/O, goQ  A  {bI| & 
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CERTIFICTE IN BASIC COMPUTING 

~o{gH$ H$åß`yqQ>J _| à_mUnÌ 

(Theory) 

(608) 

Time allowed : 2 Hours]  [Maximum Marks : 40 

{ZYm©[aV g_` : 2 KÊQ>o ] [A{YH$V_ A§H$ : 40 

Note : All the question are compulsory and carry marks as indicated against each 

question.   

{ZX}e : g^r àíZ A{Zdm`© h¢ Am¡a àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE JE h¢ &  

1. Fill in the blanks :   81=8 

 [aº$ ñWmZm| H$s ny{V© H$s{OE :  

(a) All the pages on the internet are linked through ___________ . 

 B§Q>aZoQ> na g^r n¥îR> ___________ Ho$ _mÜ`_ go Ow‹S>o hþE h¢ & 

(b) The ____________ locates a particular web page among all 

computers connected to internet. 

 ___________ B§Q>aZoQ> go Ow‹S>o g^r H$åß`yQ>am| Ho$ ~rM EH$ {deof do~ noO H$m nVm 
bJmVm h¡ & >    

(c) ____________ compare distinct items or show single items at  

distinct intervals. 

 ____________ AbJ-AbJ A§Vamb na AbJ-AbJ AmBQ>_ {XImH$a EH$b 
AmBQ>_ H$s VwbZm H$aVm h¡ & 

(d) MS Excel 2003 is a windows-based ____________ package. 

 MS Excel 2003 qdS>moO-AmYm[aV ____________ n¡Ho$O h¡ & 
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(e) The layout of keyboard is just like a traditional typewriter of the 

____________ type . 

 H$s~moS>© H$m boAmCQ> ___________ àH$ma Ho$ EH$ nma§n[aH$ àH$ma Ho$ Q>mBnamBQ>a$ H$s 

Vah h¡ &  

(f) ____________ is the full form of EFT. 

 ____________, EFT H$m nyU© ê$n h¡ &   

(g) ____________ option is used to start all over again.  

 ____________ {dH$ën H$m Cn`moJ {\$a go ewê$ H$aZo Ho$ {bE {H$`m OmVm h¡ &  

(h) ___________ helps in movement from slide to slide in a 

presentation.  

 ____________ EH$ àñVw{V _| ñbmBS> go ñbmBS> VH$ OmZo _| _XX H$aVm h¡ & 

2. State true or false for the following statements. Write your answer in the 

answer book :  71=7 

 {ZåZ{b{IV H$WZ Ho$ {bE ghr `m JbV ~VmBE & CÎma-nwpñVH$m _| AnZm CÎma {b{IE :  

(a) The URL contains that component that specifies the protocol, the 

server and the path name of an item. 

 URL _| dh KQ>H$ hmoVm h¡ Omo àmoQ>moH$m°b, gd©a Am¡a {H$gr AmBQ>_ H$m nW Zm_ 

{Z{X©îQ> H$aVm h¡ &  

(b) Naveen: Gupta @ hotmail.com is an invalid address. 

 Naveen: Gupta @ hotmail.com A_mÝ` h¡ & 
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(c) The client computer acts as a dumb terminal connected to the 

remote host.   

 ŠbmB§Q> H$åß`yQ>a XÿañW hmoñQ> go Ow‹S>o S>§~ Q>{_©Zb Ho$ ê$n _| H$m`© H$aVm h¡ &  

(d) RAM is non-volatile in nature. 

 a¡_ àH¥${V _| J¡a-dmînerb h¡ &  

(e) Slide sorter view is not the best view to use when copying slide. 

 ñbmBS> H$s à{V{b{n ~ZmVo g_` ñbmBS> gm°Q>©a Ñí` H$m Cn`moJ H$aZm g~go AÀN>m 

Ñí` Zht h¡ &  

(f) UNDO reverses the edit action. 

 UNDO g§nmXZ {H«$`m H$mo CbQ> XoVm h¡ & 

(g) # Symbol is used for cell referencing. 

 # qg~b gob ao\$a|qgJ Ho$ {bE BñVo_mb {H$`m OmVm h¡ &  

3. Answer the following question in a few words : 71=7 

 {ZåZ{b{IV àíZm| Ho$ CÎma Hw$N> eãXm| _| Xr{OE : 

(a) What is presentation file ?  

 àoO|Q>oeZ \$mBb Š`m h¡ ?  

(b) What is the purpose of tab settings ? 

 Q>¡~ goqQ>J H$m CÔoí` Š`m h¡ ?  

(c) What is IP address ? 

 AmB© nr ES´>og Š`m h¡ ?  

(d) Name few operating systems. 

 Hw$N> Am°naoqQ>J {gñQ>_ H$mo Zm_ X| & 

(e) What is dragging ? 

 S´>¡qJJ Š`m h¡ ?  
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(f) What is relative referencing ? 

 gmnoj ao\$a|qgJ Š`m h¡ ?  

(g) Write the shortcut key for the following in MS Excel : 

 MS Excel _| {ZåZ{b{IV Ho$ {bE em°Q>©H$Q> H§w$Or {b{IE : 

(i) Apply auto sum 

 Am°Q>mog_ bmJy H$a| 

(ii) Format cells dialog box  

 \$m°_}Q> gob S>m`bm°J ~m°Šg  

4. Answer the following in 2 to 3 sentences only : 42=8 

 {ZåZ{b{IV àíZm| Ho$ CÎma Ho$db Xmo `m VrZ dmŠ`m| _| {b{IE : 

(a) What is the purpose of pointer ? 

 ßdmB§Q>a H$m CÔoí` Š`m h¡ ?  

(b) What is password in MS Excel ? 

 MS Excel _| nmgdS>© Š`m h¡ ?  

(c) What is toggle case ? 

 Q>m°Jb Ho$g Š`m h¡ ?   

(d) If A1 = 10, B1 = 2, C1 = 12 and D1 = 14, write down the steps to 

calculate the value of the following expressions : 

 (i) = A1 + B1 < C1 * 3 

 (ii) = D1 + A1 – B1 ^ 2 * 3 – C1    

 `{X A1 = 10, B1 = 2, C1 = 12 Am¡a D1 = 14 h¡ & {ZåZ{b{IV A{^ì`{º$`m| 

Ho$ _yë` H$s JUZm H$aZo Ho$ {bE MaUm| H$mo {b{IE : 

(i) = A1 + B1 < C1 * 3  

(ii) = D1 + A1 – B1 ^ 2 * 3 – C1  
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5. Differentiate between the following : 32=6 

 {ZåZ{b{IV Ho$ ~rM A§Va {b{IE : 

(a) Speaker Notes and Handouts 

 ñnrH$a ZmoQ> Am¡a h¢S>AmCQ> 

(b) Menu bar and Status bar 

 _oZy ~ma Am¡a ñQ>oQ>g ~ma 

(c) Alignment tab and Font tab 

 g§aoIU Q>¡~ Am¡a µ\$m°ÝQ> Q>¡~ 

6. The following text is provided to you. Write the steps to perform the 

desired tasks given after the text : 

 {ZåZ{b{IV nmR> AmnH$mo àXmZ {H$`m OmVm h¡ & nmR> Ho$ ~mX {XE JE dm§{N>V H$m`mªo H$mo 
H$aZo Ho$ {bE MaUm| H$mo {b{IE : 

 What is Blockchain ? 

 A blockchain is a constantly growing ledger which keeps a permanent 

record of all the transactions that have taken place in a secure, 

chronological, and immutable way. 

 Let’s break down the definition.  

 Ledger : It is a file that is constantly growing. 

 Permanent : It means once the transaction goes inside a blockchain, you 

can put up it permanently in the ledger. 

 Secure : Blockchain places information in a secure way. It uses very 

advanced cryptography to make sure that the information is locked inside 

the blockchain.  

 Chronological : Chronological means every transaction happens after 

the previous one.  

 Immutable : It means as you build all the transactions onto the 

blockchain, this ledger can never be changed. 

 A blockchain is a chain of blocks which contains information. Each block 

records all of the recent transactions, and once completed goes into the 

blockchain as a permanent database. Each time a block gets completed, a 

new block is generated.   
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 ãbm°H$MoZ Š`m h¡ ? 

 EH$ ãbm°H$MoZ EH$ bJmVma ~‹T>Vm hþAm boOa h¡ Omo g^r boZ-XoZ H$m EH$ ñWm`r [aH$m°S>© 

aIVm h¡ Omo EH$ gwa{jV, H$mbmZwH«${_H$ Am¡a An[adV©Zr` VarHo$ go hþAm h¡ & 

 M{bE n[a^mfm H$mo Vmo‹S>Vo h¢ &  

 boOa : `h EH$ \$mBb h¡ Omo bJmVma ~‹T> ahr h¡ & 

 ñWm`r : BgH$m _Vb~ h¡ {H$ EH$ ~ma boZ-XoZ EH$ ãbm°H$MoZ Ho$ A§Xa Mbm OmVm h¡, Vmo 

Bgo ñWm`r ê$n go boOa _| aI gH$Vo h¢ &  

 gwa{jV : ãbm°H$MoZ Zo OmZH$mar H$mo gwa{jV VarHo$ go aIm h¡ & `h gw{ZpíMV H$aZo Ho$ {bE 

~hþV CÞV {H«$ßQ>moJ«m\$s H$m Cn`moJ H$aVm h¡ {H$ gyMZm ãbm°H$M¡Z Ho$ A§Xa ~§X aho &  

 H$mbmZwH«${_H$ : H$mbmZwH«${_H$ H$m AW© h¡ {H$ àË`oH$ boZ-XoZ {nN>bo EH$ Ho$ ~mX hmoVm h¡ &  

 An[adV©Zr` : BgH$m _Vb~ h¡ {H$ O¡go hr Amn ãbm°H$MoZ na g^r boZ-XoZ H$m {Z_m©U 

H$aVo h¢, Bg boOa H$mo H$^r Zht ~Xbm Om gH$Vm h¡ & 

 EH$ ãbm°H$MoZ ãbm°H$ H$s EH$ ûm¥§Ibm h¡ {Og_| OmZH$mar hmoVr h¡ & àË`oH$ ãbm°H$ hmb Ho$ 

g^r boZ-XoZ H$mo [aH$m°S>© H$aVm h¡, Am¡a EH$ ~ma nyam hmoZo na EH$ ñWm`r S>oQ>m~og Ho$ ê$n _| 

ãbm°H$MoZ _| Mbm OmVm h¡ & ha ~ma O~ EH$ ãbm°H$ nyam hmo OmVm h¡, EH$ Z`m ãbm°H$ CËnÞ 

hmoVm h¡ & 

Tasks : 

H$m`© 

(a) Insert the Bullets to all bold headings. 2 

 g^r ~moëS> erf©boIm| _| ~wboQ²>g gpå_{bV H$a| >& 

(b) Insert the Header. 2 

 hoS>a S>mb| & 


